118 LB PIH Bis
115 tHEARGIHF A & Bk £ =« 115 tHEARGIH B # Bk £ =«
J—J)LE-LyF-EVHDE J—J)LE-LyF-EVHDE
44118128
B £ K 2 ouT IN |TOTAL|HDCP| NET =i iv2 K 4 ouT | IN |[TOTAL|HDCP| NET
& B A 17 33 | 38 | 71 3 68 B M FH 44 | 48 | 92 | 28 64
B At E= 33 | 39 [ 72 3 69 BB 1T S 38 | 44 | 82 | 17 65
3 fi B FH 36 | 42 | 78 8 70 3 fu R 43 | 40 | 83 | 15 68
4 i XE @8 39 | 44 | 83 | 13 70 4 i g SRF 41 | 44 | 85 | 16 69
5 fi #MT BX 37 | 46 | 83 13 70 5 fi i -Rt 45 | 45 | 90 | 20 70
B-G A 15 33 | 38 | 71 B-G IE EX 38 | 44 | 82
11 tHEARGIHF A & Bk B =« 115 tHEARGIH B # Bk £ =«
TI— - KTAL FDER TI— K74 LDER
B £ K 2 ouT IN |TOTAL|HDCP| NET =i iv2 K 4 ouT | IN |[TOTAL|HDCP| NET
& B NI B 35 | 39 | 74 9 65 ' B EFH BL 45 | 45 | 90 | 24 66
B LA & 37 | 40 | 77 12 65 BB B # 46 | 45 | 91 25 66
3 fi " Br 40 | 40 | 80 11 69 3 fu ®HEHE 44 | 43 | 87 | 19 68
4 i BEH #h 38 | 36 74 3 71 4 i Eg 578 44 | 45 | 89 | 20 69
5 fi BH EFR 42 | 42 | 84 12 72 5 fi EH = 45 | 50 | 95 | 25 70
B-G BEH #h 38 | 36 | 74 74 B-G 2R =8 44 | 43 | 87
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